Ø

Second step : Robin - Share envilling room - interacting system :
The second p.s. dennity is represented in terms of some near - interacting
net of orbitels ; i.e.,
$$P^{(1)} = \sum_{i \in M} f_{ii}^{i} N_{ii}^{i} f_{ii}^{i}$$

The simple energy is then exponent by $T_{ii} f_{ii}^{i} = \sum_{i \in M} f_{ii}^{i} f_{ii}^{i} (-\sum_{i}^{n}) + f_{ii}^{i} e^{i} e^{i}$
The simple energy is then exponent by $T_{ii} f_{ii}^{i} = \sum_{i \in M} f_{ii}^{i} f_{ii}^{i} e^{i} (-\sum_{i}^{n}) + f_{ii}^{i} e^{i} e^{i}$
The simple energy is then exponent by $T_{ii} f_{ii}^{i} = \sum_{i \in M} f_{ii}^{i} e^{i} e^{i} e^{i} e^{i}$
Notice $E^{k} [p] = \sum_{i \in M} \int_{ii}^{i} e^{i} e^{i$

We are loosing for the minimum of the functional ELPJ under contraint
that K.S. orbitals are normalized. Hence we can perform constraint
minimization:
$$\frac{5E}{5p} - \sum_{i} E_i \left(\int Y_i^*(\vec{r}) Y_i(\vec{r}) \partial^3 r - I \right) = 0$$
Note that $\frac{5}{5p}$ can be written as $\frac{5Y_i^*(\vec{r})}{5p} \frac{5}{5p} \frac{$

$$O = \frac{5}{5 + \frac{1}{2}} \left(E\left[p\right] - \varepsilon_{i} \left(\frac{1}{2} \times \varphi \right) \right) = \frac{5}{5 + \frac{1}{2}} \left(\sum_{i \in orce} \left(\frac{1}{2} \times \varphi \right) \left(-\frac{1}{2} \times \varphi \right) \left(-\frac{1}{2} \times \varphi \right) \left(-\frac{1}{2} \times \varphi \right) \left(\frac{1}{2} \times \varphi \right) \right) \left(\frac{1}{2} \times \varphi \right) \right) \left(\frac{1}{2} \times \varphi \right) \left(\frac{1}{2}$$

Define
$$\frac{\delta E^{H}[p]}{\delta p} \equiv V^{H}[p]$$

 $\frac{\delta E^{\times c}(p)}{\delta p} \equiv V^{\times c}[p]$
 $V^{\times c}[p] \equiv \mathcal{E}^{\times c}(p) + \mathcal{D} \cdot \frac{\delta \mathcal{E}^{\times c}}{\delta p}$

hence:

$$\begin{pmatrix} -\frac{1}{2m} + V_{nme}(\vec{r}) + V_{(\vec{r})}^{H} + V_{(\vec{r})}^{Xc} - \varepsilon_{\epsilon} \end{pmatrix} (\vec{r}) = 0$$
This is Schroedinger equation for a non-interacting register. Note that DFT
is "interacting theory" because γ^{Xc} [P] has to be computed self-consistently.
All correlations one hidden in this $V^{Xc}(\vec{r})$ function.

Note that this is betally a Dynam equation for the Kolun-Sham green's function

$$\begin{pmatrix} (q^{\circ})^{-1} = w + \mu + \frac{\nabla^{2}}{2m} - V_{nue}(\vec{r}) \\
 Z(\vec{r}_{1}\vec{r}) = [V^{H}(\vec{r}) + V^{xc}(\vec{r})] \delta(\vec{r} - \vec{r}) \\
 (q^{(r_{1}\vec{r})} = \sum_{2} (q^{(r_{1}\vec{r})}) + V^{xc}(\vec{r})] \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu + \frac{\nabla^{2}}{2m} - V_{nue}(\vec{r}) - V^{H} - V^{xc}] N_{2}(\vec{r}) \frac{1}{w + \mu - \xi_{2}} (q^{(r_{1}\vec{r})}) \\
 Z[w + \mu + \frac{\nabla^{2}}{2m} - V_{nue}(\vec{r}) - V^{H} - V^{xc}] N_{2}(\vec{r}) \frac{1}{w + \mu - \xi_{2}} (q^{(r_{1}\vec{r})}) \\
 Z[w + \mu + \frac{\nabla^{2}}{2m} - V_{nue}(\vec{r}) - V^{H} - V^{xc}] N_{2}(\vec{r}) \frac{1}{w + \mu - \xi_{2}} (q^{(r_{1}\vec{r})}) \\
 Z[w + \mu + \frac{\nabla^{2}}{2m} - V_{nue}(\vec{r}) - V^{H} - V^{xc}] N_{2}(\vec{r}) \frac{1}{w + \mu - \xi_{2}} (q^{(r_{1}\vec{r})}) \\
 Z[w + \mu + \frac{\nabla^{2}}{2m} - V_{nue}(\vec{r})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})}) - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})}) - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\
 Z[w + \mu - \xi_{2} (q^{(r_{1}\vec{r})})] = \delta(\vec{r} - \vec{r}) \\$$

We proved that
$$(g_0^{-1} - \Sigma) g_0 = 1 \implies g_0^{-1} = g_0^{-1} - \Sigma$$
 here
this equation define the Dyron equation for $g_0 = \sum_{i=1}^{n} \sum_$

Generating stationary functionals of physical observables
We will borrow the concept from statistical physica. We add the
Nource term, and these perform the degendent transform to
a stationary functional at constant radius of the
physical observable.
Example 1: Schtionary functional at constant damp is the
free every functional at constant damp is the
construct, we work with egitts free every (if this
context it means in the prosence of the source field yer).
- Source field
$$H = H - gN$$
 where gN is the heave field
free every in the presence of the source field gN .
- The free every in the presence of the source field M .
 $Re source (g) is formation to eliminate
 $Re source (g) is formation form to eliminate
 $Re source (g) is formation to eliminate
Re source (g) is formation to eliminate
 $Re source (g) is formation to eliminate
 $Re source (g) is formation to eliminate
Re source (g) is formation to eliminate
 $Re source (g) is formation of the egitts
free every and is stationary at constant particle sum bir.
 $F(N) = Sign + KeN + a SN = -N Sign + a SN = g SN
here $SF(N) = Sign + KeN + a SN = -N Sign + a SN = g SN
here $SF(N) = formation when source there g N is obsert.
 $(\frac{F(N)}{SN} - 0)$$$$$$$$$$$$$

$$E \times \operatorname{curple} 2 : A \operatorname{rringle particle observable O.}$$

$$= \operatorname{Source} \left\{ \operatorname{ield} H_{-p} N \Rightarrow H_{-p} N + 4 \operatorname{isl} O \right\}$$

$$= \operatorname{Source} \left\{ \operatorname{ield} H_{-p} N \Rightarrow H_{-p} N + 4 \operatorname{isl} O \right\}$$

$$= \operatorname{Free energy} : \operatorname{in the preserve of the nonce term is the equilibrative energy:
$$\mathbb{E}^{n \times \mathbb{E}(N)} = \mathbb{E} = \operatorname{Tr} \left(\mathbb{E}^{-S(H_{-p}N) - EUO} \right)$$

$$REUJ = F[cos] + 4 < O \rangle \qquad \text{stegendre transform to eliminate term of the observable.}$$

$$Then \quad \underbrace{\mathrm{dIZ}}_{SU} = + \operatorname{Tr} \left(\mathbb{E}^{-\cdots} O \right) \cap =

$$= \operatorname{The obstionary functional F[O] at constant observable. O is for a state transform to eliminate the state of the observable.} Then additional for a state of the observable. O is for a state of the observable of the observable.} The obstice of the observable of the observable.} = \operatorname{disc}_{SU} = \operatorname{disc}_{SU} = -4 \operatorname{dO}_{SU}$$

$$= \operatorname{Source}_{V} \left\{ \operatorname{disc}_{V} = \operatorname{disc}_{V} =$$$$$$

- The stationary functional
$$\Gamma[\alpha_{ij}]$$
 of constant prograd observable of is

$$\Gamma[\alpha_{ij}] = h_{i} 2(\alpha_{ij}) + Tr(\alpha_{ij}, \alpha_{ij}) = h_{i} 2(\alpha_{ij}) + h_{i} (\alpha_{ij}) + h_{i} (\alpha_{ij}) + f(\alpha_{ij}) + f(\alpha$$

• At
$$\chi = 1$$
, we have $S = S^{\circ} + \Delta S$ and we set $Y_{\chi=1} = 0$, so
that $\Gamma_{\chi=1}[\zeta Y]$ is the desired stationary functional.
At $\chi = 1$ we know that $\zeta Y' = Y'_{0} - \Sigma$, where Σ is the exact
relf-energy of the system.
To work of our tart ζY we thus see that $Y_{0} = -\Sigma$
nourie form at rely energy
 $\chi = 0$

Systematic experiment could be command out:

$$\begin{array}{l} \Gamma[q] = \Gamma_0 [q] + \chi T_1 [q] + \cdots \\ \Im[q] = \Im(q] + \chi T_1 [q] + \cdots \\ \Im[q] = \Im(q] + \chi T_1 [q] + \cdots \\ \Im[q] = [f(q]] + \chi T_1 [q] \\ \makebox{ integration of the order of the order by order order is $\Gamma(q)$.
Aldernationally, we can applit

$$\begin{array}{l} \Gamma[q] = \Gamma_0 [q] + \Lambda \Gamma[q] \\ \makebox{ is } \Gamma_0 [q]^2 \\ \makebox{ order to a point of the observations.} \\ \makebox{ Minot is } \Gamma_0 [q]^2 \\ \makebox{ order to a point of the observation of the observations.} \\ \makebox{ Minot is } \Gamma_0 [q]^2 \\ \makebox{ order to a point of the observation of the observations.} \\ \makebox{ Minot is } \Gamma_0 [q]^2 \\ \makebox{ order to a point of the observation of the observation of the observations.} \\ \makebox{ Minot is } \Gamma_0 [q]^2 \\ \makebox{ order to a point of the observation observation of the observation of the observation of the observation of the observation observati$$$$

Me mill coll Di[g] = Ø[g]

At
$$\lambda = 1$$
 we then have : $\Gamma[q] = \operatorname{Tr} heq - \operatorname{Tr}(\Sigma q) + \Phi[q]$
where $\overline{\Phi}$ is what is being edded due to interactions.
We previously defined that at $\lambda = 1$ $q = 0$ (because q is the exact q)
end therefore $\frac{5\Gamma}{5'q} = 0$
Then: $\frac{\delta\Gamma}{5'q} = \frac{\Gamma}{5'q}(\operatorname{Tr} heq) - \frac{\delta\Sigma}{5'q}q = 0$
 q^{-1}
At $\lambda = 1$ $q^{-1} = q_0^{-1} - \Sigma$ and hence : $q^{-1} = \pm \frac{5\Sigma}{3'q}$ therefore:
 $0 = \frac{5\Gamma}{3'q} = q^{-1} - q^{-1} - \Sigma + \frac{5\Psi}{5'q}$ or $[\Sigma = \frac{5\Psi}{3'q}]^{q}$
We just proved that $\Phi[q]$ is generating functional for Z_1 i.e.,
 Σ is obtained by eathing q propagators in all points ways.
Since Σ contains all placetor diagrams, $\overline{\Phi}$ has to contain all meledom
diagrams for the free energy:
 $\overline{\Phi} = \frac{9}{2} + \frac{1}{2} +$

Note that
$$50^{\circ}$$
 generales reveral ferm :
 $\frac{50^{\circ}}{50^{\circ}} = \frac{1}{12} + \frac{1}{2} + \frac{1}{2} + \frac{1}{3} + \frac{1}{5} + \frac{1}{5}$

Alternative devivation with power counting (thepter 3.8. R.M.)
We start with coupling constant integration

$$\hat{H} = \hat{H}_0 + \lambda \hat{V}_{int}$$

and $\hat{C}^{BF} = Tr(\hat{C}^{B(H_0 + \lambda V_{int})})$
 $\frac{\delta F}{\delta \lambda} = + \frac{D}{D} \frac{1}{2} Tr(\hat{C}^{B(H_0 + \lambda V_{int})}) = \langle V_{int} \rangle = \frac{1}{\lambda} \langle \lambda V_{int} \rangle$

On page 13 we derived
$$\langle V_{int} \rangle = \frac{1}{2} Tr(\Sigma Q)$$
 for general interacting system.
We can then write:

$$\frac{5F}{5\lambda} = \frac{1}{\lambda} \frac{1}{2} Tr(\Sigma_{\lambda} Q_{\lambda})$$
where both Σ and Q
need to be included for each λ .
and $F = F(\lambda=0) + \int_{0}^{1} \frac{1}{2\lambda} Tr(\Sigma_{\lambda} Q_{\lambda})$

Power expension of
$$\sum_{n} [q_n, v_n]$$
 as derived by Baym-Kadenoff.
Using Fyrmon diagrams technique, one can expend sulf energy in
powers:
 $\sum = \underbrace{\bigcirc_{n=1}^{m-1} + \underbrace{\bigcirc_{n=2}^{m-1} + \underbrace{\bigcirc_{n=2}^{m-2} + \underbrace{\bigcirc_{n=2}$

$$\begin{split} \overline{Z} &= \sum_{n=1}^{\infty} x^n \sum_{n=1}^{\infty} \left[q_n v_n \right] \qquad \text{If point} \\ There : \Delta F &= \pm \int_{0}^{1} x_n^n \operatorname{Tr} \left(\sum_{n=1}^{\infty} \left[q_n v_n \right] \cdot q_n \right) = \sum_{n=1}^{\infty} \sum_{n=1}^{\infty} \operatorname{Tr} \left(\sum_{n=1}^{\infty} \left[q_n v_n \right] \cdot q_n \right) - \sum_{n=1}^{\infty} \left[d_n \sum_{n=1}^{\infty} d_n \operatorname{Tr} \left(\sum_{n=1}^{\infty} \left[q_n v_n \right] q_n \right) \right] \right) \\ &= \sum_{n=1}^{\infty} d_n = \frac{1}{2\pi} \operatorname{Tr} \left(\cdots \right) \\ \text{We define } \overline{\Phi}[q_n] = \sum_{n=1}^{\infty} \sum_{n=1}^{\infty} \operatorname{Tr} \left(x \sum_{n=1}^{\infty} \cdot q_n \right) \quad \text{so theat} \\ \Delta F &= \Phi[q_n] = \sum_{n=1}^{\infty} \left[d_n \sum_{n=1}^{\infty} \operatorname{Tr} \left(q_n \sum_{n=1}^{\infty} q_n \sum_{n=1}^{\infty} \sum_{n=1}^{\infty} \frac{1}{2\pi} \operatorname{Tr} \left(q_n \sum_{n=1}^{\infty} q_n \sum_{n=1}^{\infty} \sum_{n=1}^{\infty} \frac{1}{2\pi} \operatorname{Tr} \left(q_n \sum_{n=1}^{\infty} q_n \sum_{n=1}^{\infty} \frac{1}{2\pi} \left(z_n \sum_{n=1}^{\infty} \frac{1}{2\pi} \left(z_n \sum_{n=1}^{\infty} \frac{1}{2\pi} \sum_{n=1}^{\infty} z_n \sum_{n=1}^{\infty} \frac{1}{2\pi} \operatorname{Tr} \left(q_n \sum_{n=1}^{\infty} \frac{1}{2\pi} \sum_{n=1}^{\infty} z_n \sum_{n=1}^{\infty} \frac{1}{2\pi} \sum_{n=1}^{\infty} z_n \sum_{n=1}^{\infty} \frac{1}{2\pi} \sum_{n=1}^{\infty} z_n \sum_{n=1}^{\infty} \frac{1}{2\pi} \operatorname{Tr} \left(q_n \sum_{n=1}^{\infty} \frac{1}{2\pi} \sum_{n=1}^{\infty} z_n \sum_{n=1}^{\infty} \frac{1}{2\pi} \sum_{n=1}^{\infty} z_n \sum_{n=1}^{\infty} \frac{1}{2\pi} \sum_{n=1}^{\infty} z_n \sum_{n=1}$$

We define
$$\overline{\Phi}[\mathcal{G}_{n}] = \sum_{m=1}^{\infty} \frac{1}{2m} Tr(\lambda^{m} \Sigma^{m} \cdot \mathcal{G}_{n})$$
 so that

$$\Delta \overline{F} = \overline{\Phi}[\mathcal{G}_{n}] - \sum_{m=1}^{\infty} \int_{0}^{1} d\lambda \frac{\lambda^{m}}{2m} Tr(\mathcal{G}_{n} \frac{5\Sigma^{(m)}}{5\mathbb{G}_{n}} \frac{5\mathcal{G}_{n}}{5\mathbb{G}_{n}} + \Sigma^{(m)} \frac{5\mathcal{G}_{n}}{5\mathbb{G}_{n}})$$

Next we wont to prove that
$$\frac{50}{50g_x} = Z_x$$
, i.e., $\overline{\Phi}$ is the sum of selector
true energy diagrams.
From oblightion $\frac{50}{50g_x} = \sum_{m=1}^{\infty} \frac{2^m}{z_m} \left(z^m + \frac{5z^m}{50g_n}, g_x \right) \stackrel{?}{=} Z_x$

Crucial potent:
$$\frac{J\Sigma}{JQ_{x}}^{m} \cdot \frac{q_{x}}{q_{x}}$$
 cuts one of the propagators and puts there are
propagator back, hence we get back Σ^{m} . But there are
many ways to cut, manualy $(2m-1)$ mays.
 $\frac{q_{x}}{JQ_{x}}\left(\frac{Q}{M}\right) = \frac{Q}{M} + \frac{Q}{M} + \frac{Q}{M} = \frac{(2m-1)}{\frac{Q}{M}}$

If follows that: $\frac{5\Sigma^m}{5Q_2} \cdot Q_2 = (2M-1)\Sigma^m$ and therefore $\frac{5Q}{5Q} = \sum_{m=1}^{\infty} \chi^n \Sigma^n = \Sigma$ os promised above.

Mow contribute with:
$$\Delta F = \Phi[q] - \sum_{n=1}^{\infty} \int_{0}^{1/2} \sum_{2m}^{n} \operatorname{Tr}\left((q, \frac{3}{2})^{n} \sum_{q}^{m} \frac{3q_{1}}{3q} + Z^{(m)} \frac{3q_{1}}{3q}\right)$$

hence $\Delta F = \Phi[q] - \int_{m}^{1/2} \int_{0}^{1/2} \chi^{*} \operatorname{Tr}\left(Z^{(m)}, \frac{5q_{1}}{3q}\right)$
(atrice $\Delta F = \Phi[q] - \int_{m}^{1/2} \int_{0}^{1/2} \chi^{*} \operatorname{Tr}\left(Z^{(m)}, \frac{5q_{1}}{3q}\right)$
(atrice $\Delta F = \Phi[q] - \int_{m}^{1/2} \int_{0}^{1/2} \chi^{*} \operatorname{Tr}\left(Z^{(m)}, \frac{5q_{1}}{3q}\right)$
Once anow by parts: $F = \Phi[q] - \operatorname{Tr}\left(Z, q_{1}\right) \Big|_{1}^{1} + \int_{0}^{1/2} \operatorname{Tr}\left(\frac{5Z}{5X}, q_{1}\right)$
but $Z(x_{0}) = 0$ and $Z(x_{1}) = Z$ hence
 $\Delta F = \Phi[q] - \operatorname{Tr}\left(Z, q\right) + \int_{0}^{1/2} \operatorname{Tr}\left(\frac{5Z}{5X}, q_{1}\right)$
Now we goess the last integral $R(x) = -\operatorname{Tr}\left(\ln\left(1 - q_{0}, Z_{1}\right)\right)$
 $\frac{dR^{(n)}}{dx} = \operatorname{Tr}\left[\left(q, -Z_{1}\right)^{-1} \frac{dZ}{dx}\right] = \operatorname{Tr}\left(q, \frac{5Z}{5X}\right)$
Hencefore $\int_{0}^{1/2} dx \operatorname{Tr}\left(\frac{dZ}{5X}, q_{0}\right) = \int_{0}^{1/2} \frac{dZ}{dx} + 2(x_{0} - 2$